5 w2 ay) ~5x(x—y) B 0 o2

@—W — Xy @ -2x* —1lxy ® 8x% 4 1lxy

@ 8x% —xy ® x2+axy

3
§x(2x —4y) = 5x(x —y) = 3x2 — 6xy — 5x% + 5xy = —2x% — xy




2. (x+a)(x-5)=x>+bx+15 L W, a, b 2 FF2?

® a=-8, b=-8 @ a=-8,b=-5
@)a=-3. b=-s @ a=3b=5
®a=3,b=-5

(x+a)(x=5)=x2+ (a-5)x—5a=x*+bx+ 15
2t a-5=b, —5a=159|B2 g=-3, b = -8 o|t}.




3. (x+y)?+ (x-y)? =S| AstA?

D x%+y? @ x2+2xy+y?
(@)2x2 +2y° @ 2x% + xy + 2y?

® 2x% + 2xy + 292

(2 + 2xy + y%) + (22 = 2xy +y?) = 2x2 + 2)?




4.  (x=-3)(x* +9)(x+3)= H7NsHA?

D x2-9 @ x?-81 ® x*-3
@ x*-9 @x4—81

(x=3)(x+3)(x>+9) = (x> -9)(x2 +9) = x* - 81




4 a, b, ¢ ol ot (3x+a)(bx+5) = 6x>+cx—10 € W, a+b+c
o g ool

>

> Fe 1

(3x + a)(bx + 5) = 3bx* + (15 + ab)x + 5a
3bx? + (15 + ab)x + 5a = 6x% + cx — 10

3b=06 SLob=2

5a = —10 Soa= -2

154+ab=c, 15+ (-2)x2=15-4=11
L c=11

wa+b+c=(-2)+2+11=11




